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Definindo:

: Razão de Excentricidade
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E = 200 GPa, SY = 250 MPa
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clear;
e = 0:0.1:1;
x = 0.1:1:200.1;
E 200e9;

MATLAB®
E = 200e9;
sy = 250e6;
a = E/sy;
pi = acos(-1);
bcr = (pi^2)*a*(x.^(-2)); Resolver:
for i = 1:size(x,2)

if bcr(i) >= 1
p(i,1) = 1;
indice = i;

else
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p(i,1) = bcr(i);
end

end
for j = 2:size(e,2)

y0 = 1;
for k = 1:size(x 2)for k = 1:size(x,2)

y = fzero(@(y) buckling(y,x(k),e(j),a),y0);
y0 = y;
p(k,j) = y;

end
end
figure(1), plot(x,p(:,:),'r'), axis([0 200 0 1.201]), hold;
figure(1), plot(x(indice:size(x,2)),ones(size(indice:size(x,2))),'--b');
figure(1), plot(x(indice-n:indice), bcr(indice-n:indice),'--b'); hold;  

function f = buckling(p,x,e,a)
c = cos((x/2)*sqrt(p/a));
f = (p-1)*c + e*p;
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E = 200 GPa, SY = 250 MPa
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E = 200 GPa, SY = 250 MPa

h = 2.5 mm
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L = 30 mm
e  = 0.17 mm
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